Candle Center - Infinite Algebra 1 Name

Discrete Relations Date Period

Each set of ordered pairs represents a relation. Represent the relation as a table.

1) {(_79 1)’ (_39 O)’ (_2’ _1)9 (45 7)9 (65 4)} 2) {(_17 _2)v (07 _3)a (09 2)5 (65 _2)v (77 _7)}

Each set of ordered pairs represents a relation. Represent the relation as a graph.

3) {(_3:' _6)9 (_15 6): (0, 4)’ (57 3)5 (79 1)} 4) {(_25 7): (O’ 1)7 (39 _7)’ (73 _2)9 (7’ O)}
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Each set of ordered pairs represents a relation. Represent the relation as a mapping diagram.

5) {(_6:' _7)9 (_65 3): (0, _7)’ (37 _4), (5’ 6)} 6) {(_65 7): (_55 6): (3, 5)’ (37 _4)9 (6’ 4)}



Each graph represents a relation. Represent the relation as a table, a set of ordered pairs, and a
mapping diagram. Then determine the domain/range and if the relation is a function.
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Candle Center - Infinite Algebra 1 Name

Discrete Relations Date Period

Each set of ordered pairs represents a relation. Represent the relation as a table.

D {(=7,1),(3,0), (=2, -1), (4, 7), (6, 4)} 2) {(-1,-2),(0,-3),(0,2), (6, -2), (7, =7)}
x|y x|y
=711 -1 -2
310 0 |-3
2| -1 0] 2
4 | 7 6 | 2
6 | 4 7| =7

Each set of ordered pairs represents a relation. Represent the relation as a graph.

3) {(_39 _6)7 (_1’ 6):' (05 4)’ (5’ 3)5 (77 1)} 4) {(_25 7)9 (0, 1)7 (39 _7)’ (7’ _2)7 (73 0)}
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Each set of ordered pairs represents a relation. Represent the relation as a mapping diagram.

5) {(_69 _7)7 (_67 3)a (07 _7)3 (3’ _4): (59 6)} 6) {(_67 7)7 (_57 6)a (37 5)’ (3’ _4)7 (63 4)}
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Each graph represents a relation. Represent the relation as a table, a set of ordered pairs, and a
mapping diagram. Then determine the domain/range and if the relation is a function.
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{(_7: 1)3 (_15 _3)3 (1’ 7)7 (65 1)5 (67 _7)7 (75 2)}
Domain: {_77 _15 15 65 7} {(_75 6)5 (_67 5): (_35 _2)7 (_1, 0)5 (25 7)’ (5: 1)}
Range: {—7, -3,1,2, 7} Domain: {—7, -6, -3, -1, 2, 5}
The relation is not a function. Range: {—2, 0,1,5,6, 7}

The relation is a function.



